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QUESTION 1

What is the purpose of the Bash built-in export command? 

A. It allows disks to be mounted remotely. 

B. It runs a command as a process in a subshell. 

C. It makes the command history available to subshells. 

D. It sets up environment variables for applications. 

E. It shares NFS partitions for use by other systems on the network. 

Correct Answer: D 

 

QUESTION 2

Which run levels should never be declared as the default run level when using SysV init? (Choose TWO correct
answers.) 

A. 0 

B. 1 

C. 3 

D. 5 

E. 6 

Correct Answer: AE 

 

QUESTION 3

SIMULATION 

Which world-writable directory should be placed on a separate partition in order to prevent users from being able to fill
up the / filesystem? (Specify the full path to the directory.) 

Correct Answer: /tmp -or- tmp -or- /var/tmp -or- /tmp/ -or- /var/tmp/ 

 

 

QUESTION 4

When using regular expressions, which of the following characters match the beginning of a line? 

A. ^ 
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B. ? 

C. * 

D. + 

E. $ 

Correct Answer: A 

 

QUESTION 5

Which character, added to the end of a command, runs that command in the background as a child process of the
current shell? 

A. ! 

B. + 

C. and 

D. % 

E. # 

Correct Answer: C 

 

QUESTION 6

Which of the following are valid stream redirection operators within Bash? (Choose THREE correct answers.) 

A. 

B. >> 

E. %> 

Correct Answer: ABC 

 

QUESTION 7

Which of the following are init systems used within Linux systems? (Choose THREE correct answers.) 

A. startd 

B. systemd 

C. Upstart 

D. SysInit 
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E. SysV init 

Correct Answer: BCE 

 

QUESTION 8

What is the difference between the i and a commands of the vi editor? 

A. i (interactive) requires the user to explicitly switch between vi modes whereas a (automatic) switches modes
automatically. 

B. i (insert) inserts text before the current cursor position whereas a (append) inserts text after the cursor. 

C. i (independent rows) starts every new line at the first character whereas a (aligned rows) keeps the indentation of the
previous line. 

D. i (interrupt) temporarily suspends editing of a file to the background whereas a (abort) terminates editing. 

Correct Answer: B 

 

QUESTION 9

What do the permissions -rwSr-xr-x mean for a binary file when it is executed as a command? 

A. The command is SetUID and it will be executed with the effective rights of the owner. 

B. The command will be executed with the effective rights of the group instead of the owner. 

C. The execute flag is not set for the owner. Therefore the SetUID flag is ignored. 

D. The command will be executed with the effective rights of the owner and group. 

Correct Answer: C 

 

QUESTION 10

Where does the BIOS search for a bootloader? 

A. On all connected storage media regardless of the boot device order. 

B. On all connected storage media in the defined boot device order. 

C. Only on hard disk drives in the defined boot device order. 

D. Only on the last added storage media. 

E. The BIOS is not responsible to search for a valid bootloader. 

Correct Answer: B 
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QUESTION 11

Which variable defines the directories in which a Bash shell searches for executable commands? 

A. BASHEXEC 

B. BASHRC 

C. PATH 

D. EXECPATH 

E. PATHRC 

Correct Answer: C 

 

QUESTION 12

What is the default action of the split command on an input file? 

A. It will break the file into new files of 1,024 byte pieces each. 

B. It will break the file into new files of 1,000 line pieces each. 

C. It will break the file into new files of 1,024 kilobyte pieces each. 

D. It will break the file into new files that are no more than 5% of the size of the original file. 

Correct Answer: B 

 

QUESTION 13

In a nested directory structure, which find command line option would be used to restrict the command to searching
down a particular number of subdirectories? 

A. -dirmax 

B. -maxdepth 

C. -maxlevels 

D. -n 

E. -s 

Correct Answer: B 

 

QUESTION 14

Which permissions and ownership should the file /etc/passwd have? 
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A. -rw-------1 rootroot531 Jun 5 22:45 /etc/passwd 

B. -rw-r--r--1 rootroot531 Jun 5 22:45 /etc/passwd 

C. -rw-r--r--1 11531 Jun 5 22:45 /etc/passwd 

D. -rw-------1 11531 Jun 5 22:45 /etc/passwd 

Correct Answer: B 

 

QUESTION 15

Which of the following commands will send output from the program myapp to both standard output (stdout) and the file
file1.log? 

A. cat  file1.log 

B. myapp 0>and1 | cat > file1.log 

C. myapp | cat > file1.log 

D. myapp | tee file1.log 

E. tee myapp file1.log 

Correct Answer: D 
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